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SR VBAPr Option Explicit
B-Em Public Run As Boolean

Sub A # 1_Click()
Dim x As Integer

Run = True

Do While (Run = True)
Application.Wait (Now + TimeValue("0:00:1"))
x = Cells(1, 1)
x =X + Cells(2, 1)

If x > 32000 Then
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(FTT20 %) Mode1 Cells(1, 1) = x
DoEvents
Loop
End Sub
Sub A% »2_Click()
Run = False
End Sub

Option Explicit
Public Run As Boolean

Sub R # >-1_Click()
Dim x As Integer

Run = True

Do While (Run = True)

Application.Wait (Now + TimeValue("0:00:1")|

X = Cells(I, I)
x = x + Cells(2, 1)

If x > 32000 Then
x=1

End If
Cells(1, 1) = x
DoEvents

Loop
End Sub
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Run = False
End Sub
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